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A leverage ratio

A leverage ratio is any one of several financial measurements that look at how much capital
comes in the form of debt (loans) or assesses the ability of a company to meet its financial
obligations. The leverage ratio category is important because companies rely on a mixture of
equity and debt to finance their operations, and knowing the amount of debt held by a company
is useful in evaluating whether it can pay off its debts as they come due.

Too much debt can be dangerous for a company and its investors. However, if a company's
operations can generate a higher rate of return than the interest rate on its loans, then the debt
may help to fuel growth.
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Leverage Degree Analysis

A lever is defined as the extent to which profits can be increased in an enterprise as a result of
increased reliance on fixed costs or borrowed funds or together.

Thus, the concept of crane covers three main areas:

1. Operational leverage: It is linked to the cost structure.

2. Financial leverage: It is linked to the financing structure.

3. Common leverage: A combined result of the operational and financial

leverage.

1-Operating Leverage

The operating leverage is concerned mainly with fixed costs as the cost incurred by the firm in
a continuous manner regardless of the volume of production and sales. Thus, the share of fixed
unit costs will decrease when the production increases. This will result in additional net profits.
The variable costs are directly related to the production. The share of a unit of variable costs
remains constant as production levels change and the price is associated with the policy of the
firm and often by factors beyond control.

Therefore, the efficiency of the operational leverage is related to the maximum utilization of
available operational capacity to increase production and thus increase sales. Therefore, the
operational leverage measures the degree to which the change in operating profit responds to
the change in sales and accordingly: Operational leverage is defined as the extent or percentage
of increase in profits use fixed costs.
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Determine the operating leverage by the following equation:
Operational leverage

Contribution return

Operating leverage=
net operating profit before interests and taxes

This means that any change in the number of units sold will result in a positive (or negative)
change in the net profit, so that the operational leverage is a key indicator of what is known as
business risk or operational risks.
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Another method to calculate the operating leverage by using profit as a percentage of sales is
to what extent the change in the operating profit of the change in sales is accounted for by the
following equation:



If we assume that the change in sales is 10%, any that year's sales are more than 10% sales last
year, leading to a 20% change in profits before interest and taxes, the operational leverage level
is 2.
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Operating profit change ratio

Sales change ratio

If we assume that the change in sales is 10%, any that year's sales are more than 10% sales last
year, leading to a 20% change in profits before interest and taxes, the operational leverage level
is 2.

o o L) Alaind (530 (g Clasall (e A€ oy ) aladialy LanZill wd ) A o ltiaY (5 AT 3 5l dllia
A Alaleall Adlis 0 Clagaall 3 purill L)

~L. ) G.‘,)ngé "..,“*. N

Clagal) 8 sl A

10% 4y dpalal) Ll Clagae e 2 5 Al 028 Clagae ) 6 %10 el 8 sl G 0 Luza i8] 13
2 05Ss Al Aad) ) (5 sivne () 5 el yuall 5 00 il B Z LYY 89620 ks A I ga5 @y

2-Financial leverage

A financial leverage is defined as the extent or proportion of the increase in profits as a result
of the use of the money of others in the business of the firm. The effect of the financial leverage
is positive on the return if the management of the entity succeeds in investing the borrowed
funds at a rate of return that exceeds the interest paid on them. In other words, a financial
leverage is in favor of the company if the rate of return on investment is greater than the interest
rate and vice versa, and thus the financial leverage is related to the financial risks.



Net profit before taxes and interest

Financial leverage=

Net profit before taxes
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3-Common leverage (Total)

A common leverage is defined as the extent or proportion of the increase in

profits due to the optimal use of fixed costs and the use of borrowed funds in operations.
Therefore, the common leverage arises from the combined effect of both the operational
leverage and the leverage so that it reflects the combined effect of the business risk and the risk
of borrowing. Accordingly, the common leverage is a measure of the overall risk of
management and shareholders.

The common leverage is measured by the following equation:

Common leverage = Operational Leverage Degreex Financial Leverage Degree
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Example:
The sales of the Company (Baneen) were (400,000) IQD. The variable costs of these
sales amounted to (150,000) IQD. The fixed costs were (50,000) IQD and the interest
was 10,000 IQD.
Required: Prepare an Interpretation and analysis of:
1. Operational Leverage Degree.
2. Financial leverage Degree.
3. Common leverage Degree.

solution:

Contribution return

1. Operational Leverage Degree =

net operating profit before interests and taxes

(400,000 — 150,000)

DOL~
400,000 — (50,000 + 150,000)
(250,000)
DOL~
(200,000)

DOL = 1.25 times

This means that each change in the number of units sold by one unit will result in a positive
net change in net profits of 1.25 times.
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Net profit before taxes and interest

2-Financial leverage =
Net profit before taxes

400,000 — (50,000 + 150,000)

2-Financial leverage =

400,000 — (50,000 + 150,000+10,000)

200,000

2-Financial leverage = =1.05 times

190,000

Since the degree of leverage is positive and greater than the right one, it means that the decision
of the firm to invest in borrowed money was a sound and feasible decision, it was able to
achieve a profit that covers the interests of debts and achieve a net profit.
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3- Common leverage Degree= Operational Leverage Degreex Financial Leverage
Degree.

DCL =1.25 x 1,05 = 1.31 times
In this case the company has achieved a degree of operational leverage positive as well as the

degree of financial leverage positive, the degree of common leverage will be affected by both
grades, which led to a positive degree of common leverage also.
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